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General Instructions :

(i) - The question paper comprises of three Sections, A, B and C. You are to attempt all the
sections.

(ii)  All questions are compulsory.

(i)  All questions of Section-A, Section-B and Section-C are to be attempted separately.

(iv)  Question numbers 1 to 3 in Section-A are one mark questions. These are to be
answered in one word or in one sentence.

(v)  Question numbers 4 and 5 in Section-A are two marks questions. These are to be
answered in about 30 words each.

(vi)  Question numbers 6 to 16 in Section-A are three marks questions. These are to be

- answered in about 50 words each.

(vi)  Question numbers 17 to 21 in Section-A are five miarks questions. These are to be
answered in about 70 words each.

(viii)  Section Bhas 3 OTBA questions. Question number 22 is two marks, Question
number 23 is three marks and Question number 24 is five marks question.

(ix)  Question numbers 25 to 33 in Section-C are multiple choice questions based on
practical skills. Each question is a one mark question. You are to select one most
appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in section C are two marks questions based on practical

skills. These are to be answered in about 30 words each.

Download from: http://jsuniltutorial.weebly.com/ Page 1 of 8



= = g R = N g S =)
- E & % B & & | B | & \ - - - |

\ — B e B = | &

- " ]

AC‘]}S‘E Coacﬁlﬂg for Mathematics and Sc‘llmcz

HAT-3A / SCCTION-A
T T 1 ZeAdE a9l Sy fefae

Write the charge and mass of an electron.

Frefafiad gl & wdis ag1 Afeq a9 fafay 1
(a)  @ifeTm (b)y  dfiEw

Write the symbol and latin name for the following elements :

(a) Sodium (b) Potassium

e fegeeRt gy Wdiferd Sl o ariiehtol # shiel o A 4 S o ?

Mention the modification made by Carl Woese in Robert Whittaker's classification of living

organisms?

3iferes weg 1 giear fafaw far mar @ fe =i &1 amifts wwed 103 21 =i &1 w2
F1d Hifeg)

Define relative density. What is the density of silver given that its relative density is 10.3 ?

vild & =1 TF T4 T 59 T At et gy g § Wafid @ € @ 39 W S gfasat e il 2
21 3% gEdss gy o waf % Ea & 7 gl U 9HA @t @ O 7 uiss g & 7 F o syt
et saify 1 gl G AW 2 S IR 2 g FR Hh FIRT

When a sound is reflected from a distant object, an echo is produced and heard on a winter
night. Will you hear the echo of the same sound on a summer day if the distance between
reflecting surface and the source of sound remains the same. Justify your answer.

(@) S 4G F RIS A St He 1§ ? 3
(b)  TEIHIS ERI o T3 3T 91 W1V TANT h1 SAREAT i |

(@) What are the limitations of ].] Thomsons model of an atom.
(b) - Describe the a-particle scattering experiment carried out by Rutheford.

s & WY fagla o B =9R s fafae) sw% fagia = 99 @1 sifda odum & 98 3
THIfoT @ 7

State any four postulates of Dalton’s atomic theory of matter. Which of his postulates does not
correct at present ?

ARG 1 TRATST e | CehaRars, feammss, Wamwm@ﬁﬁﬂuﬁm 3
1 TH- T IqeLV faray |

Define atomicity. Give an example each of monoatomic, diatomic, tetraatomic and

polyatomic molecules.

it qon Sreeferes A0 % Heg A R aRvileg SR - 3
Tabula te three differences between acute and chronic diseases.
=1 = foe 3w v fafay . 3

(a) & S ST A AGHA R H 37 W % e aoem ) S v ane ¥
(b)  FEETST T |
() a5 oy gz Hielm are s

Write appropriate terms for the following :
(a) Animals that are able to maintain a certain body temperature over a wide range of

temperature in the environment.
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(b) Plantswhichbearnakedseeds.

(0  Animals which have pseudocoelom.
mﬁttmwﬁtmmwﬂﬁﬁwqmmt - 3
(@) HIVIEE

) W S O aren GaRsta

(© I AT SoR 3T BT AT S

Name the organs of the body where I:hefollowmg microbes attack :

(@)  HIV virus

(b)  Malaria causing microbes

()  Virus causing Japanese encephahtles

Tt @ W iR Fafost & sTR W s g @, 1mﬁm1am5maﬁn§enwosmﬁmm 3
3 m 3 % fafeoer W? FR9 w9 Ffm)

Which will have more pressure at its base, water stored in a cylinder of radius
r=1 m, height =5 m or, r = 0.5 m, height = 3 m ? Explain giving reason.

9T 30 G Se9e A 9 I aoh (R Wehr gt ¥2 3

 sfafter TfEl A o TR A 90 Hia FO F e e seds 7 eravada a6 1 w062

How 'does the sound produced by a musical instrument, reach to your
ears ? Astronauts need radio telescopes to talk with each dther on moon. Why ?

(@) g W 5T g e H Wi F e vy fegia o T e 3@ sEd s 3
(b) S fendl & Ml B TR |

(a) Name and state the principle used to check punty of milk by lactometer.

Explain of its two applications. '
mﬁﬁloaﬁlmwmquWUOWuﬂﬁuméuﬁlﬁawm%

faoreht #) SUMEA gfe TR FR AR Rt # OF g6 W gea 2 2 € @ e w e

4t 9 wifor
In a factory 10 bulbs of 170 W each and 5 fans of 110 W each operate for 12 hours daily.
Calculate the units of electricity consumed. Also find the total expenditure if 1 unit costs ¥ 2.

TF THeeN A @ TF 95 R W A TEA T J@H 950 WA g a9 dHSger H 95 3
FA ] I : '
(a) mﬁﬁmmﬂﬂmm#iﬁﬂﬂwm%?

b) i e w w1 9N §?

(© 9% Fd 99 I T B 9 2 e f Svgw wrw fafew

A woodcutter was cutting a tree with a saw. Rahul saw him and become very upset and asked -

the woodcutter to stop cutting the tree.
(a) Which values are shown by Rahul by stopping the woodcutter ?

(b) Why generally treev-are cut ?
(c) While cutting the tree saw becomes warm. Give suitable reason for this.

() T s M H 10 T, 12 g2 &1 O M F W] e A geeE gen i d? S
(b) = fawslt woaTo] A 12 Wil qen 13 seiegia @ waha &2 samem #ifw)
()  iferam g sifsrg 4 ot 22
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(a) An ion M2 contains 10 electrons and 12 neutrons.. What is the atomic number and

mass number of the element M ? '
(b) Isit possible in an atom to have 12 protons and 13 electrons ? Explain.

(c) Why helium gas is inert ? : .
(@) FEush H i Fif
aidl % S AW foed wwe feT =R faeiy am w R fe s g, @wl

(b)

(a) Define Nomenclature.

(b)  List four conventions that are followed while writing the scientific names of

organisms. ) : ,

@ (@ TS T G- § T @ T e © 7 5
@ i % m fafae R fag w o @ o fgsl w1 SRR

fepan < B 1 :
' @) - 1 HF el o I % Q) wew fafag)
®)  "Fr ¥ Frare # ger ffy g ¥ i 0 wwe ¥ Q@ T FE H SR 5N
AR |
(a) (i) Why an antibiotic is not effective in the common cold?

(ii)  Nametwo diseases against which infants below one year are vaccinated.

(iii)  List two symptoms of any one of these diseases.
(b)  The general way of preventing infections mostly relate to preventing exposure to the

disease agent ? Explain the statement with examples. o

() omm wm wmie R % fau e omfed  wi A w We S
. # sifa wifm) '

(b) TH =@F T F R 2 KHz 9 W0RE 30 cm §1 1.2 km #1 58 9% WU B

fau 7= feaT g @2

(@)  Draw a graph to represent the amplitude and wavelength. Mark the two on the graph.

(b) A sound wave has a frequency 2 KHz and wavelength
30 cm. How long will it take to travel 1.2’ km?

m-mﬁﬁwawmnmmmmmamml%kg 5 .
R Tk 9% 15m/s B AT § TR ¥, 39 g B S F@ Fife

Name two forms of mechaxical energy. Define them and give their SI units. Find the energy of
a body of mass 35 kg moving with a velocity of 15 m/s. :
Y- ( 4+ 918 ) /SECTION - B (OTBA)
(* Please ensure that open text of the given theme is supplied with this question paper.)

Theme: Solid Waste Management
mmmmmﬁﬁi?ﬂﬁsnp(aﬁ?ﬁﬁ)ﬁﬁwm%m%? 2
How can waste management add to the GDP of any country?
HH IR H AR H A ¥ 7 R SuRE gu fee sweifaal e R 9 iy 3
T FH 8 F9 s7fire ggiel & ffor 812
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What responsibilities should be taken into consideration by a manufacturer. before
launching any product into the market so that there is minimum waste production?

3ef¥re yave o fawfaa Teiqaq aFAlEl S STE Rt

Explain latest technologies developed to utilize the waste and its management.
. WIT-¥/ SECTION - C |

S ¥ Tad % FEE §1 G $E F G § S HI0 g9 WekA B0 F qH A A 1

YANTIo 3R =IAq O B ST B AT ST

(@) el Uy a1 LA H1 S A |

(b)  Hehivl Uy qun T T AN H4 |

()  Hehivi TIw a1 & 1 ikl il

(d) e Ry U e %l |

While performing an experiment to verify the laws of reflection of sound, the observed

experimental difference between the values of angle of incidence and angle of reflection is

likely to be minimum when a student choses a :

(a) wide tube and a faint source of sound.

(b)  narrow tube and a faint source of sound.

() marrow tube and a strong source of sound.
(d)  wide tube and a strong source of sound.

=R BE &4, AR, 3& a9 B ¥ TF 5em x 10cm x 20cm il awdt Si9 #1 ufgwm @ @ 1

STET- 3T Tl BRI 1 3 3T W T a6l ST &1 Y01 a1 il ot | 31 S & fafiesr werenl
BRI 1 9Tt STl o Qarvr fele fore ot su TR R

@ ¥R RS foan fo stemw el ifkehad BT ST Scm x 20cm farieil a1 o =1 7 &
AR & HYh § T oI _ .

(i)  fefa S Rt fo. 11 B s 7 ifea @ S 10cm x 20em Fwrsil a0t werw
% 3 & 99h § T T g

(i) z& ¥ Ferté e i ST 7@ AR B ST Sem x 10cm el AR e 9 I ¥
e & Ty § T@n o

(iv) Frm 7 fare e & oft worshi 570 O 99H SETEA B

el Fred for o grT Frepren T R SR Y
(@ @M ®) Rk
(€ =4 (d fen

Four students Hari, Aditi, Daksh and Trisha observed and compared the pressure exerted by
three different faces of a glass slab of dimensions 5cm x 10cm x 20cm on wheat flour, They
recorded their observations about the depressions by different faces of the cuboid as follows -
(i) Hari records that depression is maximum when the face of d.imensio'n
5cm x 20cm is in contact with the wheat flour,

() Aditi records that depression is maximum when the face of dimension 10cm x 20cm is
in contact with the wheat flour.

(ti)  Daksh records that depression is maximum when the face of dimension 5cm x 10cm is
in contact with the wheat flour. '
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(1v) Trisha records that the depression is same for all the faces.
The correct conc[umon is drawn by :

.(b)y, Aditi ' _
- Y Trisha : _
ﬁagmamw & faq - 1

(@ gﬁﬁiaﬂawﬁﬁwmmﬁmm%
®) @R R e e d

© G fa % o @ e e s @

@ T R R gdifea fea s @ ol @i s R

For producing a transverse wave along a slinky :
(a). - free end is jerked at right angle to its length.
(b) the free end is compressed.
(c)  the free end is pulled along its length. _ _
() thefreeend:scompressedmdpulled. : 5 . :
 grirefE v & fum ¥ i wl A | . o
(a) . it 3o T e 9 (b) HewTdeT
(© eSS 0 (@) i sy Sefiig
Dryopteris differs from Funeria in having : :
(@) . Seed bearing plants - (b) ~ Vascular bundle
(¢)  Adependentsporophyte  (d) A non- dependent sporophyhe
mag:ﬁ%ww@mmﬁﬁzaﬁuogmﬁmmﬁmm%r aﬁxﬁmﬁmﬁag‘émﬁq 1
TRAEE T 1 T H BT-

(a) 100g (b) 88g

(c) 14.8g (d) 348g

16.8g sodium hydrogen carbonate is added to 12.0g of acetic acid. The mass of carbon dioxide
produced in.the reaction will be.

(2 10.0g (b 83g
() 148g 4 348g

& (AR SRl 2o SR F Fem weiie $0 S v A frafafy o i e 1
¥ .

() U FRE A X F5% Ao a9 U 9o T ¥ Y F15% faer Sl wires § a@esl
dife |

(i)  HEUFETES T q91 3EH Sqaegs S i)

(i) @l A vedt g sfufrn & ovem wIRE F FeWH i g SR

(iv) T ) IR AR A faeraa X aan Y fafla @ sid

(v)  <Em A geEE Wiy

frafafy &1 g #m &

(@) (1), (1), (iii), (iv), (v) (b) (i), (i), (iv), (v). (iii)

(© (i), (i), (v), (iv), (iii) () (i), (v), (i), (iii), (iv)

In an experiment to verify the Law of Conservation of Mass in a chemical reaction, the
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following steps of procedure are given below :

(i) Take 5% solution of 'X' in a flask and, 5% solutions of 'Y' in an ignition tube and hang

it in the flask.
(i)  Weigh the flask with its content carefully.
(i) Compare the mass of the flask before and after the reaction.
(iv)  Tilt and Swirl the flask so that the solutions X and Y get mixed.
{(v) Weigh again.
he correct sequence of the procedural steps are given in:
;;- (@), (i), (), (), (v) @® , @ @ (), (v), (i)
1 6@ (@), (v), ), @) A6, (), (), (i), @)
3 wrg fog ol @ sfta ol & 98 R

(a) TS | (b) Tt
() fonrea (d) MewEe
The group to which grasses belongs is :
() Monocotyledonous (b) Dicotyledonous
* (0 Gymnospems (@) Preridophytes

D32 - e ST A e W e W T R 2
@ s 2 et g €

) e H wemR fr f g
© EheREE

(@ o WRR e
Which statement in not true for monocotyledonous plants ?
. The seeds have two cotyledons.

The leaves have parallel venation.
The flowers are trimerous.
: The roots are fibrous.
33

Fq feu e =9 & SR Ff qU 7= & e =k STee YEEa |
(@ M (b)

© ¥ (@ =
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Observe the diagram given above and identify the stage of life cycle of mosquito :
(  pupa () larva

(¢ egg : (d) adult '
ST T 200 g FHHA HT UG F T e IR F T TG ST F B OO Q oY W 2
wven fafeist & galrn qe wrn 6 w951 /R 60 mi I 81 ) i 1 Sl fiehferd shifor |
Swapnil was provided with a solid sphere of a metal of mass 200 g. He immersed it in a
measuring cylinder half filled with water and found that the water level was raised by 60 ml.
Calculate the density of the sphere.

U WM SR A IR & 7 391 S Wt 7 F AR o § g a1 9 e w2
T T SR el 3 T e W i | |
A cube of copper and a spherical ball of iron having same volume, immersed in salty water.
Find the relation between buoyant forces acting on both balls with reasons. :
@Wﬁﬁ?ﬁﬁﬂﬁ{ﬁﬂ@gﬁﬁmﬁwﬁaﬂmﬁﬂmmﬁmﬁamﬁwﬂ
ﬁﬁ'wﬁﬁm%mﬁﬁwﬁﬁam%mﬁmmﬁﬁwmwmﬁamia
T Wi 3 5 st a7 |

In an experiment to establish the relation between the loss of weight of solid when fully
immersed in a liquid .- the weight of water displacedbyit,isﬂlereanychangehresulls,if
we take the vessels of ¢ ferent shapes or we change the level of waterin vessels ?

-00o0000-
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